How to set up dimensional analysis in a Word document

Let’s say you have the following problem:  How many atoms of silver are in 0.00872 pounds of silver?
(Ag is the elemental symbol for silver.)

Here’s what you do:

1.
Insert a table, with 5 columns and 2 rows (the number of columns is somewhat arbitrary, since 
you can copy and paste more of them if needed, or delete some if they are not needed):

	
	
	
	
	

	
	
	
	
	


2.
Then, remove the borders from the top and bottom of each cell:

	
	
	
	
	

	
	
	
	
	


3.
Next, center the cell contents horizontally and vertically:

	
	
	
	
	

	
	
	
	
	


4.
Now, starting on the left, enter your given and your conversion factors:

	0.00872 lbs. Ag
	453.6 g Ag
	1 mole Ag
	6.02 x 1023 atoms Ag
	

	1
	1 lb. Ag
	107.9 g Ag
	1 mole Ag
	


5.
You can now do the math and enter your answer.  There are two ways to do this:


a)

You can delete the last (empty) column of cells, and place the answer on the next line down.

	0.00872 lbs. Ag
	453.6 g Ag
	1 mole Ag
	6.02 x 1023 atoms Ag

	1
	1 lb. Ag
	107.9 g Ag
	1 mole Ag


= 2.21 x 1022 atoms Ag


b)
Or, you can use the last column for your answer, once you merge the two cells together and 


get rid of the vertical border on the right side of that column:

	0.00872 lbs. Ag
	453.6 g Ag
	1 mole Ag
	6.02 x 1023 atoms Ag
	= 2.21 x 1022 atoms Ag

	1
	1 lb. Ag
	107.9 g Ag
	1 mole Ag
	



You might notice that I changed the width of the columns in step 4 (to accommodate a large 
number), and in step 5b (so that my answer would fit on the same line).

